a) The firstnamed befendant does not plead to paragraph 3
as it contains no allegation against it.
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b} The secondnamed D

allegation contawﬂad in paragravh 3.

V)]

) nsofar as it bont ains-any allegation against it the

contained in paragraoh 4,

a) The firstnamed Defendant does not plead to paragraph 6
as it containg no allegation against it.
b} The secondnamed Defendant admits each and every

-

‘paragraph 6.
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allegation contained i:

a) The firstnamed Defendant admits each and every

a) The firstnamed Defendant admits each and every

allegation contained in paradraph 8.
) The secondnamed Defendant does not plead to paragraph &
as it contains no zllegation against it,

a) 1Insofar as it contains any allegation against it the
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